## **OMB Burden Estimate**

		Respondents	Tin	ne in hours Salary	
Museum			14	40	26.09
Library			5	40	27.94
University			16	40	32.96
Nonprofit			2	40	31.40
	TOTAL		37	40	29.5975

\$27.94 - librarian	http://www.bls.gov/oes/current/oes254021.htm
\$26.09 - museum	http://www.bls.gov/oes/current/oes254012.htm
\$32.96 - university	http://www.bls.gov/oes/current/naics4_611300.htm#25
\$31.40 - nonprofit	http://www.bls.gov/oes/current/oes251199.htm
average	

Total Time (hours)	Total Annual Costs		
	560 \$	14,610.40	
	200 \$	5,588.00	
	640 \$	21,094.40	
	80 \$	2,512.00	
	1480 \$	43,804.80	43804.3

-0000 (education and library) (education support services)

26.09 27.94 32.96 31.40 **29.60** ave

	OMS/OLS average time to process one	GrantsAdmin ave time to process one	erage # of	
Process	(hours)	(hours)		onses
Discretionary Applications including SF-424S (data entry, first-check, budget check)	1	16	0	37
Discretionary Applications (IT download)	1.	0	0	0
Discretionary interim performance report		1	0	37
Discretionary final performance report	1	5	0	37
SF-425 (financial reporting)		0	2.5	37
SF-270		0	1.5	37

185

<sup>\*</sup> Average salary of IMLS employees

Hour burden to Average IMLS salary\*

MLS salary\* \$ burden to IMLS

42.92	41.12	1764.87
1	41.12	41.12
37	41.12	1521.44
55.5	41.12	2282.16
92.5	41.12	3803.60
55.5	41.12	2282.16

284.42 9889.36 totals